
US_CA

IN240200110V01_GL_84H-138V00

IN240200110V01_GL_84H-138V00



1

56

A  2 B2  1

C  1 D  1 E  1 F  2

G  1 I  1 H  1 J  4

K  1 L 10 M  2

N  2 O  2 P  1 Q  1

B1  1



2

02

01
EN_Step 1:Slide central manifold (D) 
through rotary drum (A) and attach using 
M6 bolt & nut fixing (K).
FR_Étape 1 : Glisser le collecteur central 
(D) dans le tambour rotatif (A) et le fixer à 
l'aide du boulon M6 et de l'écrou de 
fixation (K).
ES_Paso 1: Deslice el colector central (D) 
a través del tambor giratorio (A) y fíjelo 
con un tornillo M6 y una tuerca de fijación 
(K).
PT_Passo 1: Deslizar o coletor central (D) 
através do tambor rotativo (A) e fixar com 
parafuso M6 e porca de fixação (K).
DE_Schritt 1: Schieben Sie den zentralen 
Verteiler (D) durch die Drehtrommel (A) 
und befestigen Sie ihn mit der Schraube 
M6 und der Mutter (K).
IT_Fase 1: Far scorrere il collettore 
centrale (D) attraverso il tamburo rotante 
(A) e fissarlo utilizzando i bulloni e i dadi di 
fissaggio M6 (K).

EN_Step 2: Attach outlet elbow (E) to 
central manifold (D) and tighten, 
remembering to insert washer behind the 
fly nut.
FR_Étape 2 : Fixer le coude de sortie (E) 
au collecteur central (D) et serrer, en 
n'oubliant pas d'insérer une rondelle 
derrière l'écrou volant.
ES_Paso 2: Fije el codo de salida (E) al 
colector central (D) y apriételo, 
recordando insertar la arandela detrás de 
la tuerca volante.
PT_Etapa 2: Ligar o cotovelo de saída (E) 
ao coletor central (D) e apertar, não 
esquecendo de inserir a anilha por trás da 
porca volante.
DE_Schritt 2: Befestigen Sie den 
Auslasskrümmer (E) am zentralen 
Verteiler (D) und ziehen Sie ihn fest, wobei 
Sie daran denken, eine Unterlegscheibe 
hinter die Schwungmutter zu legen.
IT_Fase 2: Collegare il gomito di uscita (E) 
al collettore centrale (D) e serrare, 
ricordando di inserire la rondella dietro il 
dado volante.



3

04

03
EN_Step 3: Push drum joiner (H) onto 
rotary drum (A).
FR_Étape 3 : Pousser le joint de tambour 
(H) sur le tambour rotatif (A).
ES_Paso 3: Empuje la articulación del 
tambor (H) sobre el tambor giratorio (A).
PT_Passo 3: Empurrar a junta do tambor 
(H) para o tambor rotativo (A).
DE_Schritt 3: Schieben Sie den 
Trommelverbinder (H) auf die 
Drehtrommel (A).
IT_Fase 3: Spingere la giunzione del 
tamburo (H) sul tamburo rotante (A).

EN_Step 4: Push second rotary drum (A) 
onto the other side of the drum joiner (H).
FR_Étape 4 : Pousser le deuxième 
tambour rotatif (A) de l'autre côté de la 
jonction des tambours (H).
ES_Paso 4: Empuje el segundo tambor 
giratorio (A) hacia el otro lado del 
ensamblador de tambores (H).
PT_Passo 4: Empurrar o segundo tambor 
rotativo (A) para o outro lado da junta do 
tambor (H).
DE_Schritt 4: Schieben Sie die zweite 
Drehtrommel (A) auf die andere Seite des 
Trommelverbinders (H).
IT_Fase 4: spingere il secondo tamburo 
rotante (A) sull'altro lato del raccordo del 
tamburo (H).



4

06

05
EN_Step 5:Slide the 2 spacers (F) onto 
the central manifold (D), one on each side 
and with the cones facing in towards the 
rotary drums.
FR_Étape 5 : Glisser les deux entretoises 
(F) sur le collecteur central (D), une de 
chaque côté et avec les cônes orientés 
vers les tambours rotatifs.
ES_Paso 5: Deslice los 2 espaciadores 
(F) sobre el colector central (D), uno a 
cada lado y con los conos orientados 
hacia dentro, hacia los tambores 
giratorios.
PT_Passo 5: Colocar os 2 espaçadores 
(F) no coletor central (D), um de cada 
lado e com os cones virados para dentro, 
na direção dos tambores rotativos.
DE_Schritt 5: Schieben Sie die beiden 
Abstandshalter (F) auf den zentralen 
Verteiler (D), einen auf jeder Seite und 
mit den Konen nach innen in Richtung der 
Drehtrommeln.
IT_Fase 5: Far scorrere i 2 distanziali (F) 
sul collettore centrale (D), uno per lato e 
con i coni rivolti verso i tamburi rotanti.

EN_Step 6: Loosely assemble clamps (J) using 
the M4 bolts & nuts (L) , so that the support 
frames (B) and axle (C) can slide into them. 
Position them on the shoulders of the spacers 
(F).
FR_Étape 6 : Assemblez les pinces (J) sans les 
serrer à l'aide des boulons et écrous M4 (L), de 
manière à ce que les cadres de support (B) et 
l'essieu (C) puissent s'y glisser. Positionnez-les 
sur les épaules des entretoises (F).
ES_Paso 6: Monte sin apretar las abrazaderas 
(J) utilizando los tornillos y tuercas M4 (L) , de 
forma que los bastidores de soporte (B) y el eje 
(C) puedan deslizarse en ellas. Colóquelas 
sobre los hombros de los separadores (F).

PT_Etapa 6: Monte os grampos (J) com os parafusos e porcas M4 (L), de modo a 
que as estruturas de suporte (B) e o eixo (C) possam deslizar para dentro deles. 
Posicione-os nos ombros dos espaçadores (F).
DE_Schritt 6: Montieren Sie die Klammern (J) mit den M4-Schrauben und -Muttern 
(L) locker, so dass die Stützrahmen (B) und die Achse (C) in sie hineingleiten 
können. Setzen Sie sie auf die Schultern der Abstandshalter (F).
IT_Fase 6: assemblare i morsetti (J) con i bulloni e i dadi M4 (L), in modo che i telai 
di supporto (B) e l'asse (C) possano scorrere al loro interno. Posizionarli sulle 
spalle dei distanziali (F).



5

08

07

EN_Step 7: Slide support frames (B1-B2) 
and axle (C) into clamps (J) and ensure 
they are pushed all the way into position, 
then tighten all bolts & nuts.
FR_Étape 7 : Faites glisser les cadres de 
support ((B1-B2) et l'essieu (C) dans les 
pinces (J) et assurez-vous qu'ils sont 
entièrement poussés en position, puis 
serrez tous les boulons et écrous.
ES_Paso 7: Deslice los bastidores de 
soporte ((B1-B2) y el eje (C) en las 
abrazaderas (J) y asegúrese de que 
estén bien colocados, después apriete 
todos los tornillos y tuercas.

PT_Etapa 7: Faça deslizar as estruturas de suporte ((B1-B2) e o eixo (C) para 
dentro dos grampos (J) e certifique-se de que são empurrados até à posição 
correcta, depois aperte todos os parafusos e porcas.
DE_Schritt 7: Schieben Sie die Stützrahmen ((B1-B2) und die Achse (C) in die 
Klemmen (J) und stellen Sie sicher, dass sie ganz in die richtige Position 
geschoben werden, dann ziehen Sie alle Schrauben und Muttern fest.
IT_Fase 7: far scorrere i telai di supporto ((B1-B2) e l'asse (C) nei morsetti (J) e 
assicurarsi che siano spinti in posizione, quindi serrare tutti i bulloni e i dadi.

EN_step 8: Fit rewind handle (l) onto the 
one side and brass inlet connector (G) 
onto the other side of the central manifold 
(D).
FR_étape 8 : Monter la poignée 
d'enroulement (l) d'un côté et le 
connecteur d'entrée en laiton (G) de 
l'autre côté du collecteur central (D).
ES_paso 8: Coloque el asa de 
rebobinado (l) en un lado y el conector de 
entrada de latón (G) en el otro lado del 
colector central (D).
PT_Etapa 8: Colocar o punho de 
rebobinagem (l) num lado e o conetor de 
entrada de latão (G) no outro lado do 
coletor central (D).
DE_Schritt 8: Montieren Sie den 
Aufrollgriff (l) auf der einen Seite und den 
Messing-Einlassstutzen (G) auf der 
anderen Seite des zentralen Verteilers 
(D).
IT_fase 8: montare la maniglia di 
riavvolgimento (l) su un lato e il 
connettore di ingresso in ottone (G) 
sull'altro lato del collettore centrale (D).

B1

B2

C



6

EN_Step 9: Position wheels (M) onto 
axle and gently hammer spring clips 
(N), one each side of reel, onto the 
axle, clips facing outwards, until 
wheels are held securely with no 
lateral movement.

FR_Étape 9 : Positionner les roues (M) sur l'essieu et marteler doucement les clips 
à ressort (N), un de chaque côté de l'enrouleur, sur l'essieu, clips tournés vers 
l'extérieur, jusqu'à ce que les roues soient solidement maintenues sans 
mouvement latéral.
ES_Paso 9: Coloque las ruedas (M) sobre el eje y martille suavemente los clips de 
resorte (N), uno a cada lado del carrete, sobre el eje, con los clips hacia fuera, 
hasta que las ruedas queden bien sujetas sin movimiento lateral.
PT_Etapa 9: Colocar as rodas (M) no eixo e martelar suavemente os grampos de 
mola (N), um de cada lado do carreto, no eixo, com os grampos virados para fora, 
até as rodas ficarem bem presas sem movimento lateral.
DE_Schritt 9: Setzen Sie die Räder (M) auf die Achse und hämmern Sie die 
Federklammern (N), eine auf jeder Seite der Rolle, vorsichtig auf die Achse, wobei 
die Klammern nach außen zeigen, bis die Räder sicher und ohne seitliche 
Bewegung gehalten werden.
IT_Fase 9: posizionare le ruote (M) sull'asse e martellare delicatamente i fermi a 
molla (N), uno per ogni lato della bobina, sull'asse, con i fermi rivolti verso 
l'esterno, fino a quando le ruote sono tenute saldamente senza alcun movimento 
laterale.

EN_Step 10:Push hub caps (O) into 
place, to cover spring clips.
FR_Étape 10 : Pousser les enjoliveurs de 
moyeu (O) en place, pour couvrir les clips 
à ressort.
ES_Paso 10: Empuje los tapacubos (O) 
para cubrir los clips de resorte.
PT_Passo 10: Empurre as tampas dos 
cubos (O) para o seu lugar, para cobrir os 
grampos de mola.
DE_Schritt 10: Drücken Sie die 
Nabenkappen (O) auf, um die 
Federklemmen abzudecken.
IT_Fase 10: Spingere i coprimozzo (O) in 
posizione, per coprire i fermi a molla.

09
D
one

09



7


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8

